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Consider triangle A;A4,A4; and let P be any point
in the plane. Let points B;, B,, Bs be reflections of
points A,, A,, A; in P, respectively. Construct the 3

triangles A;B,C;, A;B3C, and A3;B;(C; outwardly as

the given diagram indicates:

Show that C;C,C5 is an equilateral triangle.
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)

Xk = Xk+1 Yie+1 + Yi+2
Vi — Ye+1 —Xps1 + Xps2)

|

X — Xpp1 — AN O (Vi + Yir1)  Xgs1 — Xz — AN (Vi1 + Vi)
Yk — Yk+1 T 1an 0 (g + Xp41)  Yies1 — Vw2 +tan @ (i + Xpy2)

__tanf o4
=7, 4k=1

Yie + Yk+1 Xk+1 — Xk+2
—(xk + Xp41)  Vir1 — Yies2

)
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tan 6@
= 2 Tke1 (e = Xe2) + Ok = View2)D.

= taze X (A1A32 + A2A42 + A3A12 + A4A22>.

E3t#m3 ww ff [C1CC3C,] + [D1D;D3D,]

X — X1 T 1ANO (Vi + Yies1)  Xgs1 — Xpsz T 1aANO0 (Vi1 + Vi)
Vi — Yies1 —tan 0 (X + Xg41) Vi1 — Vw2 — tan 0 (Xgiq + Xpey2)

X — Xpp1 — AN O (Vi + Yis1)  Xgs1 — Xz — AN O (Vi1 + Vi) )

Yk — Vw1 T 1an0 (X + Xpy1) Vi1 — Yiewz T a0 0 (Xpqq + X))

tan @ (Vi + Yi+1) tan 0 (Yx+1 + Yi+2)

+

>

_lys 5 X = Xg+1 Xk+1 — Xp+2

)

Yk = Yk+1 Vi1 — Yk+2 —tan 6 (xp + Xpp1) —tan b (cpyq + Xpypo)
_ly4 (2 % |xk xk+1| _2tan2 6 x Yk }’k+1|)
3 k=1 Yk Yk+1 Xk Xg+1l/)

= % X (4‘ X [A1A2A3A4] - tan2 9 (_4‘ X [A1A2A3A4])) = (1 + tanzg) X [A1A2A3A4].

D;

AiBjeq 2

®I15 - A[C,C,C3C,] £ A[D1D,D3D,] & fit # R E -

[Beda])

B3 €000, 2w g3 DiD,DD, SRR wAp s B (- BUEREAE S B o ¥ -
B v ) B w3 CC,CC, ¥ w #3) D;D,D3D, e i feE st T owue f
5 AgAAzA, P ASIITL - R AM Y BT Aehp & 5 20 chE w ke

4o TRl ow éq/ 16030, + = éq/ D1D,DsD, =%} AiEA3E, + %7 FiAF34, -
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W16t w #7) C1C,C3C, + = #7) DiDDsDy 5 i S iP R & -
T KT ABrez o R G AB | PR B (1600, B e if) DiD,DD, 2
%3 LELHALEIA 0 B G B Dy, HAY P OB (5 LB A 2 B Y )
BE-FenE N ELER 00w CCCC TR FEEM e E)
AAzAzAy o b ff 0 # AR B GGG F e e filEs RE FLER 6 BE

B BB G PR R A -

2388, § m=2 (AyByy, ER) P
(1) P g5 & ¥t e 25 g 40 o o

() 75 " ﬁ [C162C364] = [D1D2D3D4] = [A1A2A3A4] °

BRI RE G &8 Dpy, iR

1 tan 6 1 tan 6
Cie (3 G = 142) = 222 (3 = Yier2) 3 O = Yiewa) + 222 (= = 5112 ),

1 tan @ 1 tan 6
Dy 42 (5 (Xk42 — Xp4a) + > (—Yk+2 = Vi+4) 5 Vk+2 = Vi) — > (—Xp42 — xk+4)>-

AT Xpya = Xg > Yia = Vi * T Cp B Dy, BREFET P(0,0) > Fpt P Gowif
A5 C1C,C3C, B w i85 D3D,D1D, ik ? v » v if2) AjA,AzA, B w875

BleB3B4_ rf’hé}?fﬂ“ W fe T %]t"‘r’/:[‘ °
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BI7:P B A SRS o o

AP sg it e

Xk — Xz T taAN0 (Vi + Vir2)  Xpg1 — Xk43 T 1an 6 (Veyq + Yiers)
Yk — Vi+z —tan 0 (Xg + Xg42)  Vir1 — Views — tan 0 (Xpqq + Xpey3)

1
[C16263 C4] = gZizl

tan 6 (Y + Yi+2) tan 0 (Vi41 + Yiet3)
—tan 8 (O + Xp42) —tanf (g + Xgy3)
Xp+1 — X3 tan 6 Vesz + Vita) _
Vi+1 — Ytz —tan0 (Xpyo + Xppa)

=0

ART 0 YE,

tan @ (Vi + Yks2)  Xks1 — Xks3 _ 4
—tan 0 (xy + Xg42) Vi1 — Vi3 =t

4
Lie=1

Xk — X2 tan @ (Vei1 + Yiss)
Yk — Ytz —tan0 (Xpqq + Xp43)

4
Yie=1

1 Xk — Xg+2  Xg+1 — Xk+3
Flt [C1CC3C,] == i=1| _ _ |
8 Yk = Vk+2 Yk+1 — Vk+3

=23t (ax [y ) = (4042404,

f32¥ {8 [DD,D3D,] = [A1A,A3A,]

./‘E;}g}o

448 E 0 w875 CC,C5C, (D1D,D3D,) F oo fhlEs aim 2 £ 48 0

(=) #Frxiv e F5ape0 B35 T 23

Afdr 4 pr B2 e 835 CC,C3C, 2w 825 DiD,D;D, P 5 $Fskw §a50 9

‘Vi?@- AyBryr B3 (AgByys 2 8)
Fr A AjAAzA, 5T w8350 0 =45° Ble A C,C,C5C, & w83, DD,D;D,

,}_Z, :‘_aj_f:“}:z[}o

[EALEE
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Flesw éq/ AjAA3A, T ‘ﬁq/ v 4 AR A (xg, 1) ~ Ax(x2,y2) fe Asz(x3,y3) » Bl
Ag(xz + X1 — X3 Y3+ Y1 —Y2) o % 0 =45% T F gt AgBry, @R TFT (ArByys
DA HET W) o0 BT R AL

X1—=X2 , Y1tY2 J’Z x1+x2 3’2+Y3 Y2—Y¥3  Xz2tX3
Cl(z+2 - Cz( 2’2_2)'

C —X1+Xz | Y1—Y2+2Yy3 Y1ty  X1— x2+2x3 \ C x2+x3 23’1—3/2"'3’3 —Y2+tY3  2X1—Xp+X3
3 > T 2 A 4 2 P 2 :

1. ¥k GGy — oGy

= %(((—9& +2x; —x3) + (=y1 + y3))2 + ((—y1+ 2y, —y3) + (g — X3))2 -

((=x1 +x3) + (yy — 2y, + 3’3))2 — ((y1 +y3) + (=x; + 2x, — x3))2) =0

12 A —y1+2y,—y3+x1—Xx ey —X1+2X2—X3—Y1+Y PR
‘E 4;}‘%/4\_13 C1C2 — 1 2 3 1 3 . lél:\ CZC3 — 1 2 3 1 3 s *E%j’:’;/\ _1
—X1+2Xx2—=%x3-Y11+Y3 Y1—2y2+y3—x1+X3

Clcz 1 Czcg °

2. I A BRUHEY T Z AT T 0= 030, F CC3 LCaCys & Ay %

SR T BLA AP T E CaCp =CaCy ° CaCy L CuCy s & A BUHEd ¥ ¢h = 2

%\‘ T FE‘ ¥ %’F" C4-Cl = Cch ¥ C4,Cl 1 C1C2 °

3. 442t w 1§45 D D,DD, TR AR A @ AH 51 A

C.
B_; Bz B3 BZ ’
D3DD4 C]
B4 B] B4 BI
C] D2 D] C3
OP OP
D, D; C;
G A; Ay A; Ay
C4 DI D4
Az A3 AZ A3
C; D .4
ABrr it AuBiess 25

@18 L S"gq; 6162C3C4 1;’5‘]: 1%113 D1D2D3D4 'E.:‘% i - II;
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ENNLE AR S
G- = A5 63 g 32 B
jow BT R R FHIL ) b T 4

+ R s s
12 &7 B EE (k=1,2,3)

dam- N .
* —ﬁ?mfﬁ (:‘ii']\i%&) v-[';P_ (
s T M
(1) [C1C2C3]_[D1D2D3] _ 0 % LL&F’)
A.B, [A14243] ) 3 0 FEE AR :}i*ﬁ
c ~
(2) [ 1C2[231]Z[Z11D2D3] — 2 tan? 6 (1) A GGG =ADD;D; -
5 .
3 (2) ACGGC~AAAAz -
(D [€C1C2C3]—[D1D; D3] tan 6
A4, 2 zZ = .
142" +A2A3" +434; 4
o M m 2 X o i Y
AkBk+1 (]‘_B I* :&%'-‘1 AA1A2A3 E—fr]%égﬁx&é @ 6 > 60 &%’:}54
TR & % 0 hE Y= 425 I AC,C h -
SRR N ] ﬁ*,‘{;fr) 16,C5 2 A DD,D; 12 %
(2) [C1C2C3]+[D1D2D3] _ 3+tan29 JI _.:_ é’.qj o
A[AA1AzA5] 5
(1) —LE282Cs]-1D1DaDs] tan 6
A Ay + A, A5 2= T,
— 243 +A34, 4
o . 5 0 : -
AkBk+2 (;%} PR A ek AkBk_I_l @%ﬁﬂ\) ii%; = 60 })EEE s :}_l”ﬁ
" ACC,C3 ¥ AD,D,D; 7 3
Q) [C1C,C3]+[D1D,Ds] _ 3+tan? @ - 4 13 1= &
[A1A2A3] — > . 1= = I]7 )
42w AT y
jer i BALE (k=1
e - (3 ,2,3,4)
pew it (L2 T
A4 (LEEE)
(1) [C1C2C[3:4Ci—f[lD114D2D3D4] —0 (1) = 3§1‘[7 C1600, = = é
AkBk 141243 4] I[; D1D2D3D4 o
(2) [C1C2i26ﬂ+£010293D4] — 2tan20 (2) = #7) GGG~ $7)
142 3A4] : A1A2A3A4 o
(3) P gLi& b 2
. FRE AP o
(1) = 12C2C3C4]2_[D1D22DBD4] _ tan @
A3 +Ay A, +AzA, +AsA; 4
(Brr & Auie; A
o K . VRS E-H ., $ 7 1% A v . =
AgB,, HERITL- FAT l% ) Ao sy . § ) M fAshy 5 T T
\,3_“ - FAEE AR H AT Lo A5 0 5 45 REEEG
F ;‘; ’ el AN P ) M 72 —
20 M3 FA50% B _;Li,&fr) = éq/ C,C,C5C, sy éﬂ;
(2) [C1C2C3C4]+[D1D2D3D4] D1D2D3D4 ‘Lrj—é' Jl i Q; o
[A1A2A3A,] = 1 + tan?0.
AxBri, (1 [€1C2C5C4]=[D1D2D3D4] ¥ v o2
+2 ) ] «l _ . 0 sERERM BTG
(1) z 3§ZI3 C1C2C3C4 = 7 3§
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(2) [C16263C4_]+[D1D2D3D4] — 2 113 D1D2D3D4 °
[A142A344] ' 2) P g:i A ¥ 37

E‘f”]g%ﬂ‘t‘ S o

[C1C3C3C4]—[D1D3D3D4] tan 6 o . ; v 1 .=
(1) 7 ) ) 7= . BT @2} AAAzA, 5 T (7

e 0 L 45 BRpE 4T
A5 CC,C5C, ¥ w i
= 1 + tanzg D1D2D3D4 ‘}i:‘% it = I]} °

AiBryz (BT & ok AgBry, @#8)

(2) [C1C2C3C4]+[D1D;D3D,]
[A1424344]

o mEgEenn (W) 5875 AjA,A; A, 1 5 $7 B1B,B; .. B, H#i

ehj i ]2

N

BEBEFZ B - Rt gk s APFRIGHEI R FR LA FEZL N
(W) 5835 AjAA; . A, BFo IR G5 B8R BA K3HH% -
ER (W) 587 AjAyAy . A, ¥ 587, B B,B;y..B, il BB ABrm £ 7

nAE (m=0,1,23.,n—1) % L8P LA FIHLLT » SHT 2 K545 sk -

3210, ¥ 2R (W) 589 ABrym BRE AByyn_p SR B R

(1)  AgBrem @& pm¥ B1752. % % 6 # [C1C,C5 ... Cy) + [D1DyDs5 ... Dy] %% ArBran—m
WA AHTH A2 F v & f [C,C,C5 ... Cpl + [D1D,D5 ... Dy

(2)  ApBiim BB GFEBA2 1 wd f [C,C,C5...Cp] — [D1DyD5 ... D] %% AxBrin-m

AR B352F » @ 8 —([C,C,C; ... Cp] — [D1DyDs ... D) o

fEALE

YT Bl > ApBrym SRR T ER G ABiig ~ ABoym > Apn-mBm-my+m > An-m+1B1 >

Ap-m+2B2 > .. > A—m)+nBn-m > ';47%» iﬁ@ﬁé}ﬁf#ﬁ F% A ABrymC ¥ 2 "'Ef‘gﬁj?i’é
E'% A ABiymDy e

1 2 m 1+m 2+4m n—-m n—m+1 n—m+2 n

1 2 m 1+m 2+ m n-m n-m+1 n—m+2 n

B19 * AxByim AT LR e
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YT Bl A e ABrinom TERT & B3 A1Biynom > A2Boynom > - > AmBrynom

Ami1B1 > Apmy2Bo > oo~ ApBpg ';%ig&@%ﬁf#é M AABrymCe T2 "'ﬁfé’:’ﬁfjﬁ

¥ %% A ABrimDy

1 2 m 1+m 2+4m n—-m n—-m+1l n—m+2 n

1 2 m 1+m 2+4m n—-m n—-m+1l n—m+2 n

®120 : AgBiin—m 3T B o
~ FEERN (W) 5§ AjAAs . Ay ¥ BiB,Bs..B, i ZEHFERA; 0 1345 Bl
B2 T 8 ABram SERT T 5835 € C,C5..C § 25 ABrapom THEAT
cfiFi 5§35 DiDyDy..Dy o F 2275 FIp ¥ 18 ApBryy RARGGTE B2 G 9 oo ff 2

AgByin-m BRGTH BA52.F » b fF M RS o

¢

Cs

@21 :AkBk+m —,‘?I? AkBk+n—m @%‘z?ﬁ C %]';’i’ D ﬁii °

(=) -5 A1ArAs .. Ayyq 2 KR B P2 |

FIIL HE R0 (W) 287 AAyAs . Apyr > AxBrem &R SH1 Bl252 3 % 5 4

(1) [CICZC3 C2i+1] - [D1D2D3 "'D2i+1]

_ tanb ¢oi41
an— Yicr (22X Xprme1 — 2YkVkem+1 T 2Xk41Xkem T 2Vk+1Vk+m)-

HY »m=0,1,2,..,i-(;x:m=i+1,i4+2,i+3,..,20> % 5 »;\epr )

% m=0,1,2i pF> 3 FrRenB e ud] -
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(2) [C1CyC3 ... Coi41] + [D1D; D3 ... Dy 44 ]

Xk+1  Xk+m _|xk xk+m+1|)>

_1 2041 Xk+1 -
- <2(1 + tan® 6) X |y Vi+ | + (1 —tan®6) x ( YVie+1  Yk+m Vi o Yk+m+1

HY m=0,12,..,2ic

g m—1-m+1 & 2i+1 03 TR L L2 A3

AL

I 23483 w6 4 [C1CCs ... Coip1] — [D1 D, D3 ... Dyjg4q]
1 2i+1<
g 2uk=1

|xk — Xpem — AN 0 (Vi + Vierm)  Xks1 — Xirm+1 — 100 Vki1 + Vierme1)
Yk — Yk+m T tan 0 (xg + Xxim)  Vierr — Yierm+1 T tan 0 (i1 + Xgyms1)

X = Xggm + a0 (Vi + Virm)  Xkrr — Xeamer T a0 60 (Vg1 + Viermer) _
Vi = Yirm — tan 0 (xg + Xgpm) Vw1 — Virmer — tan 0 (epq + Xpmet)

)

__ tan@ 2i+1< Yi T Ye+m Xk+1 — Xk+m+1 |xk — Xk+m Yi+1 T Yi+m+1 )
k=1 \|_ _ _ _ .
4 (ke + Xpem) Vi1 — Ye+m+1 Yk — Vk+m (k41 + Xprme1)
tan9

ZZIH( 2XkXtme1 = 2VkVk+m+1 T 2Xks1Xkem + 2Vks1Vk+m)-

FPFIR om FR T ERER > € IR R AR
(1) 4 m=0 pF> 7N C(tand Xy, > —tanf X x;) ~ Di(—tan @ X y; > tan6 X x;)
TEEM 2 E B EAR > B F A[CCC . Copyq] — A[DDyDs5 ... Dyyyq] = 0 ¢
2 % m=1 pF>
[CICZC3 CZi+1] - [D1D2D3 "'D2i+1]
_ tanb ¢oiv1
== Zie=1 (—2Xk X2 = 2YiYierz + 2Xper1Xk41 + 2Yia1Vie1)-

tan 6
= ZZLH(Zxk — 2X X4z + 2VK% = 2V Vk42)-

tan 6
== 221+1((xk_xk+2) + Uk = Yr+2)2)-

__tané@

—2 —_—2 -2
X (A1A3 + A2A4_ + + A2H_1A2 )

P23, Aps 7@ m=20 pFo

tan 0 — 2 2 —2
[C1C2C3 ---C2i+1] - [D1D2D3 ---D2i+1] = a: X (A1A3 + AAy + o+ Ay Ay )

2. £33 % & 4 [C1C,Cs . Coinr] + [DyDyDs .. Doy

2i+1( Xk = Xk+m  Xk+1 — Xk+m+1

+ Ykem Yrk+1 T Yk+m+1|)
Vi — Vik+m  Yi+1 — Yik+m+1 '

tan? 9|
| Xk + Xgam X1 T Xerm+1
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_ lgoit | Xk xk+1| ~Xk+m xk+1| |xk _xk+m+1| —Xk+m _xk+m+1|_
Ve  YVk+1 “Yk+m  Yk+1 Yk  “Yk+m+1 “Vk+m —Yk+m+1

tan26(yk Yk+1| n Vi+m }’k+1| Yk yk+m+1| n Yi+m }’k+m+1|)>_

Xk Xk+1 Xk+m Xk+1 Xk Xk+m+1 Xk+m Xk+m+1
1 xk+1 Xk+1  Xk+m Xk Xk+m+1
a2y [ S| -ty x ([t S| e S
k+1 k+m k+m+1

NpEF A w AR
() % m—1-m+1 & 2i+1 =43 [
[C1C2C5 ... Cai41] + [D1D;D3 ... Dy q]

1
= (1 + tan2 9) X [A1A2A3 ...A2i+1] + 5(1 - tal’l2 9) X ([AlAmAZm—l ...Azi_m+3] -

[AlAm+2A2m+3 ---Azi—m+1])-

(Area C) + (Area D) = 37.439 cm?
((1 + tan(8)*)-4) + (0.5:((1 = tan(0)?))-(A41434547494>42A6As = A1AsA0A1A3A3474246)) = 37.439 cm?
Bl22: 114 #3258 m=3 46
(2) F m—12 2i+1 23 F > m+1 2 2i+1 3 FpF> G A~ Ay
A1 > oo > Apiimys TR § 2t £ F 04 5 RA o

[6162C3 CZi+1] + [D1D2D3 '"D2i+1]

1
= (1 +tan®0) X [4;4245 ... Agiys] +5 (1 — tan 6%) X (([A1AmAgm_1 - Agimys] +
[A2Am+142m o Azi—mial + [A3Api2Aomiq o Agimmas] + -+

[Am—lAZm—2A3m—3 ---A2i+1]) - [AlAm+2A2m+3 ---Azi—m+1])-
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(Area C) + (Area D) = 50.792 cm?
((1 +tan(0)*)-4) + (0.5-((1 - tan(9)?))-((Area A4,4447) + (Area A Ar4545) + (Area A A34s49) + A1AsA2474343444945)) = 50.792 cm?

B23: 024 #3257 m=4 50
B) % m+1 & 2041 23K 2 m—1¢ 2i4+1 3 F@F > B8 A~ Apyo
Agmisz > o~ Agiimer SBA5 € 22— S F a0k & BA o
[C1CZC3 CZi+1] + [D1D2D3 ---D2i+1]

1
= (1 +tan®0) X [4;424; ... Agip1] +5 (1 — tan® 6) x ([A1AmAzm—1 - Azi—me3] —

([A14Am4242m43 - Agi—me1] + [A2Am13A0msa o Agimia] +

[A3Am1aAomes - Azi—mes] T+ [Ams14omi283mes ---A2i+1]))-

C+D=26.821 cm?
((1 + tan(0)?)-4) + (0.5-((1 - tan(#)?))-(4 — (Area A A4,4447) — (Area A A24545) — (Area A A34545))) = 26.821 cm?

B24: 24 #3257 m=2 50
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@ % m—1%2i+123%>2 m+1 % 2i+1 23 [
[C1C2C3 "'C2i+1] + [D1D2D3 "'D2i+1]

1
= (1 +tan®0) X [4;4245 ... Agip1] +5 (1 — tan® 6) x (([A1AmAgm—1 - Agimisl +

[A2Am+142m o Azi—mial T [A3Ami2Aomer o Agimmas] + -+
[Am—lAZm—ZASm—3 ---A2i+1]) - ([AlAm+2A2m+3 ---Azi—m+1] +
[A2Am+3A0mea o Azi—mez] + [A3AmiaBoms o Agiomis] + - +

[Am+1A2m+2A3m+3 ---A2i+1]))-

(=) - Bga) AjdyAs .. Ay 2 F70 RIA)enid 7

Bis o AR T w9 AjAyAs Ay 2 i 0 87, CCyCs...Co ¥ DyD,Ds3 ...Dy; 0

P e h AT TN BT LY Al H A

FI12. {0 E R (W) B AjAyAy Ay AgBrem @R H B2 4 v o A

(1) [€1CC5 ... Cyi] — [D1D;D5 ... Dy
_ tanezzi (_2 _9 2 2
= 7 Lk=1{"4XkXkrm+1 ViYiam+1 T 2X01Xk4m + 2Vis1YVierm)-
HY »m=0,1,2,..,i°(:x:m=40i+1,i+2,..,20i—1> %% 5 5;%e4pFr &)
% m=0,1,i,2i—1 pF> 5 FrRnSie 3 d o
(2) [C,CyC5...Cy] + [D1DyD5 ... Dy;]
_ 1y P Xk Xk+1 _ 5 Xk+1 Xk+m| Xk Xk+m+1
B 42":1 <2(1 + tan®6) x |YR 3’k+1| + (1 —tan"6) x ( Vie+1 yk+m| |yk Yk+m+1|)>'
2¢ m=01.,2i—-1 ¥ m—1 -m+1 & 20 03 FFHF L v fafFa) o
AL
Lo . tan @ i
1. £33 F # & # [C1C,C5 . Ci] = [D1DyDs ... Dyy] = == YL 1 (—2X)eXpepmas —

4

2YiYirme1 + 2% 1Xkem + 2YVir1Yirm)-

APEFIR m EIN T HEIRER > § NI R G ARER

() § m=0p > v &I C(tand Xy, ,—tanb X x;) ~ Dp(—tan O X y, ,tan 6 X x;,)
TEHEM 2EE P BEER o EE [CC,Cs...Cy] — [D1DyD3 ..Dy] =0 o
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(2) § m=1p>
[C1C2C3 e CZL] - A[D1D2D3 ...Dzi]

tan @ i
T R (Gt = Xues2)® + Ok = Yier2) D

__tan@

x (Ads” + Tody" + -+ Ay ).
R¥ERImI3, ApL 7@ m=2i—1 B>

tan @ —_—2 —_—2 _—2
[C1C,Cs . Coi] = [D1D2Ds .. Dyl = =22 x (A A" + ApA," + -+ AnAy).

D1D2D3 ...Dzi 4 E"/I [6162C3 ...Czi] - [D1D2D3 ...Dzi] = 0 ) .E’ /iiill Ck —';2? Dk+l ,‘%L:%”':‘j'
Fr P B TLEARET > - BEFENT R 2L BFAHG DL -

o2 ro 1 i xk xk
2. £33 % 6 4 [CCCs . Gyl + [DyDyD; . Dyl = 232, <2(1+tan2 9) x |yk yk:| +

Xk+1  Xk+m Xk Xk+m+1
1 —tan? 6 x( |—| |>
( ) Yr+1  Yk+m Yk Yk+m+1

() % m—1-m+1 & 20 =53 Fp>
[C1C5Cs ... Coi] + [D1D;D5 ... Dy] = (1 + tan? 0) X [A;AyA;5 ... Ay] + (1 — tan? §) x
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